
Correction du vendredi 27 mars – CM1

Calcul mental :
A/ 74x61≈  70x60 = 4200      

B/ 63x63≈  60x60 = 3600     

C/ 91x82≈  90x80 = 7200     

D/ 47x71≈  50x70 = 3500      

E/ 53x36≈  50x40 = 2000

Vocabulaire: 

A / souris   B/  glace     C/ note     D/ lettre

E/   malin                  F/ rempli                G/ perché               H/  impoli                I /  expérimenté

Numération  
1/ 

a. 
5
10

    b. 
36
100

   c. 
18
10

       d. 
168
100

2/ 

a.  six dixièmes              b.   vingt-trois centièmes    c.   cinquante-six dixièmes    d. cinq centièmes

3/  

2 =  
20
10

 ;        6=
600
100

 ;         8= 
80
10

 ;         5 =  
500
100

     ;       3 = 
30
10

     


